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Instructions to be followed:-

1. From now onwards students do your worksheets in your particular
subject notebook respectively. Don’t use rough sheets, old copies or
anything else. All the stationary shops have already opened. So you
can purchase it.

2. All the students must complete their worksheets as periodic test marks
will be given to those who completes it else you will have to go through
pen paper test after the school reopens.

3. Read each and every topic (which will be given in worksheets) of the
chapters from NCERT books.

4. All the students must purchase NCERT books as it will help you to
understand the chapters.

5. If you have any query related to worksheet, ask your queries in
whatsapp group between 8:00 am to 03:00pm.

The Bond of Love Extra Questions and Answers

Question 1.

How did the author get the baby sloth bear?

Answer:

The author got the baby sloth bear in a freak accident. Once the author and his friends were
passing through the sugarcane fields near Mysore, Bruno’s mother was wantonly shot dead
by one of his companions. The cub was found moving on the body of his mother. It was in
great shock and tried to flee but the author managed to capture it, and bring it home.

Question 2.

Why did the author not kill the sloth bear when she appeared suddenly?

Answer:

Being kind-hearted, the author did not kill any animals without any motive or provocation.



As the sloth bear had not provoked or attacked him, he did not kill it. That is why he
describes his companions shooting of her a wanton act.

Question 3.

Why did one of the author’s companions kill the bear?

Answer:

One of the author’s companions killed the bear wantonly, in a moment of impulsive rush of
blood. He may have though the bear would attack them and he may have shot it as an
impulsive act born of self-preservation.

Question 4.

How did the author capture the bear cub?

Answer:

When the bear cub’s mother was shot, it ran around its prostrate parent making a pitiful noise.
The author ran up to it to attempt a capture. It scooted into the sugarcane field. Following it
with his companions, the author was at last able to grab it by the scruff of its neck and put it
in a gunny bag.

Question 5.

How did the author’s wife receive the baby sloth bear?

Answer:

The author’s wife was extremely happy to get the baby sloth bear as a pet. She put a coloured
ribbon around his neck and named him Bruno.

Question 6.

How was Bruno, the baby bear, fed initially? What followed within a few days?

Answer:

Initially, the little Bmno was given milk from a bottle. But soon he started eating all kinds of
food and drank all kinds of drinks. He ate a variety of dishes like porridge, vegetables, nuts,
fruits, meat, eggs, chocolates etc., and drank milk, tea, coffee, lime-juice, buttermilk, even
beer and alcoholic liquor.

Question 7.

“One day an accident befell him”. What accident befell Bruno?

Answer:

One day Bmno ate the rat poison (barium carbonate) kept in the library to kill rats. The
poison affected his nervous and muscular system and left him paralysed. He rapidly became
weak, panted heavily, vomited, and was unable to move.

Question 8.

How was Bruno cured of paralysis?

Answer:

Bruno had mistakenly consumed poison and had got paralysed. However, he managed to
crawl to the author’s wife on his stumps. He was taken to the veterinary doctor who and
injected 10 cc of the antidote into him. The first dose had no effect. Then another dose was
injected which cured Bruno absolutely. After ten minutes of the dose, his breathing became
normal and he could move his arms and legs.



Question 9.

Why did Bruno drink the engine oil? What was the result?

Answer:

Once the narrator had drained the old engine oil from the sump of his car and kept it to treat
termites. Bruno, who would drink anything that came his way, drank about one gallon of this
oil too. However, it did not have any effect on him.

Question 10.

What used to be Bruno’s activities at the author’s home?

Answer:

In the beginning, Bruno was left free. He spent his time in playing, running into the kitchen
and going to sleep in our beds. As he grew older, he became more mischievous and playful.
He learnt to do a few tricks, too. At the command, ‘Baba, wrestle’, or ‘Baba, box,” he
vigorously tackled anyone who came forward for a rough and tumble. If someone said ‘Baba,
hold gun’, he would point the stick at the person. If he was asked, ‘Baba, where’s baby?’ he
immediately produced and cradled affectionately a stump of wood which he had carefully
concealed in his straw bed.

Question 11.

How did Bruno become attached to the family of the author?

Answer:

Bruno got lot of love in the family of the author and he grew very fond of them. It slowly got
attached even to the two Alsatian dogs and to all the children of the tenants. But, above all, he
loved the author’s wife and she loved him dearly too.

Question 12.

How did Bruno come to be called ‘Baba’?

Answer:

Bruno came to be called ‘Baba’ which in Hindustani means a ‘young boy’ after the narrator’s
wife developed a special bond of affection for him. She loved him as she loved her son and
started calling him ‘Baba’.

Question 13.

What kind of tricks did Bruno, the pet bear, do?

Answer:

Bruno was mischievous and played a lot of tricks. When he was called to wrestle, he would
vigorously tackle anyone who came forward. When asked to hold the gun, he pointed a stick
at the person. On being asked where the baby was, he brought out a stump of wood and
cradled it as if it were a baby.

Question 14.

Why had Bruno to be kept in chains most of the time?

Answer:

Bruno had grown up very fast. Therefore, it was felt that it could be dangerous to let him
move about freely around the children of the tenants. Therefore, it was decided to keep Bruno
in chains.



Question 15.

Who advised the author’s wife to send Bruno to a zoo and why? What was her reaction?
Answer:

The narrator, his son and even some friends advised the author’s wife to send Bruno to a zoo
because he was now too big to be kept at home. They felt he may become a danger to
children. But she loved the pet bear so deeply that she could not accept the proposal readily.
It took her three weeks to make up her mind and give her consent.

Question 16.

Bruno was a loving and playful pet. Why, then, did he have to be sent away?

Answer:

Bruno was certainly a loving and playful pet. He had developed affection for everyone
around him and was particularly attached to the author’s wife. However, he had to be sent
away to the zoo because he had grown too big to be kept at home. He could be a threat to the
people in the neighbourhood, especially children.
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Instructions to be followed:-

1:- From now onwards students do your worksheet in your particular subject notebook respectively. Don't use rough sheets,
old copies or anything else. All the stationary shop have already opened. So, you can purchase it.

2:- All the student must complete their worksheets as Periodic test marks will be given to those who completes it else you will
have to go through pen paper test after the school reopens.

3:- Read each and every topics (which will be given in worksheets) of the chapters from NCERT books.

4. All the students must purchase NCERT books as it will help you to understand the chapter.

5:- If you have any query related to worksheet, ask your queries in WhatsApp group between 8:00 am to 3:00 pm.

Revision worksheet

Do guestions and answers

Q.1 Define five functions of you tube?
Q.2 Why self-management skills are important in our daily life? Write 4 points.
Q.3 How can you conserve wildlife resources? Mention five points.

Q.4 Write commands for the operations (a) to (c) based on the spreadsheet shown:

A -] C D E F G H
Name Basic HRA DA PF Ohes Gross  Net Salary
Deduction

Mr. Surinder
Ms. Kanika
Ms., Simran 1800000 @ 184000 = 2200000
Mr. Aashish
M:. Abhijit 16000 .0C 160000 100000
Ms. Jyoti 16800 .04

Mr. Anurag

e N bW N -

(@) Tocalculate the HRA as 25% of BASIC and DA as 50% of BASIC+HRA for all employees in the
table.

(b) To calculate the Gross as Basic + HRA + DA for all employees in the table.

(© Tocompute Net Salary = Gross — (Other Deduction + PF) for all employees in the table.

Note: - First learn all questions/answers then do answer all of these questions yourself in notebook.
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Instructions to be followed: -

1: -From now onwards students do your worksheets in your particular subject notebook respectively.
Don't use rough sheets, old copies or anything else. All the stationary shops have already opened. So,
you can purchase it.

2: - All the students must complete their worksheets as Periodic test marks will be given to those who
completes it else you will have to go through pen paper test after the school reopens.

3: - Read each and every topic (which will be given in worksheets) of the chapters from NCERT
books.

4: - All the students must purchase NCERT books as it will help you to understand the chapter.

5: - If you have any query related to worksheet, ask your queries in WhatsApp group between 8:00
am to 3:00 pm.

1. Find all possible values of a for which the distance between the points A(a, -1) and B(5, 3) is 5

units.
2. If the point A(0, 2) is equidistant from the points B(3, p) and C(p,5), find the value of p.
3. Find the point on the x-axis which is equidistant from the points (-2, 5) and (-2, 9).
4. If the point P(X, y) is equidistant from the points A(5, 1) and B(-1, 5), prove that 3x = 2y.
5. Prove the following identity:
sinc e+ —1 =1
{1+ tar? e}

6. Prove the following identity:

{1+cose][1—oose][1+oot28)=1

7. Prove the following identity:

1 1

(1+ sin6)+ (1-sing) - 2seC’ 5

g If(sin®8+cose)= V2 cos8, show that cot 8 = (42 + 1),

For Solutions (Q1 to Q4): https://www.topperlearning.com/r-s-aggarwal-and-v-aggarwal-
solutions/cbse-class-10-mathematics/r-s-aggarwal-and-v-aggarwal-mathematics-x/co-ordinate-

geometry

For Solutions (Q5 to Q8): https://www.topperlearning.com/r-s-aggarwal-and-v-aggarwal-
solutions/cbse-class-10-mathematics/r-s-aggarwal-and-v-aggarwal-mathematics-x/trigonometric-
identities
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General Instructions: -

» From now onwards students do your worksheet in your particular subject
notebook respectively. Don’t use rough sheets, old copies or anything
else. All the stationary shops have already opened. So, you can purchase
it.

> All the students must complete their worksheet as periodic test marks
will be given to those who completes it else you will have to go through
pen paper test after the school reopens.

> Read each and every topic (which will be given in worksheets) of the
chapters from NCERT books.

> All the students must purchase NCERT books as it will help you to
understand the chapter.

> If you have any query related to worksheet, ask your queries in
WhatsApp group between 8:00 am to 3:00 pm.

REVISION WORKSHEET

Short Questions

Q1. Define Tertiary sector and secondary sector.

Q2. What is national development? What are the aspects covered under the
national development?

Long Questions

Q3. Distinguish between developed countries and developing countries.



Q4. What are the different forms of power sharing in modern democracies?
Give an example of each these.

Q5. Explain the classification of resources on the basis of the state of
development.

Q6. What changes did Napoleon introduce to make the administrative system
more efficient in the territories ruled by him?

Q7. Describe any two important characteristics of each type of soil available in
India.

Q8. What was the reasons of the civil war in Sri Lanka? What was its impact on
the country?



